Test Chapter 13                 Name ________________________________-

A.
For the object shown, locate and draw the image produced by each lens using any two appropriate rays. Label the image as real or virtual. (2each)
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B.
Choose the best answer and record it on the scantron sheet. Be sure to erase all your answers completely. The decision of the scantron is final. (2 each) 

1.
Where must an object be placed with respect to a convex (converging) lens in order to obtain a virtual image?


(A)
at the principal focus


(B)
at twice the focal length


(C)
at a distance greater than twice the focal length


(D)
between the principal focus and the lens


(E)
between the principal focus and twice the focal length​


cal length.

2.
An object is placed between the principal focus and the surface of a convex (converging) lens. The image is


(A) 
virtual and larger than the object


(B) 
real and smaller than the object


(C) 
virtual and smaller than the object


(D) 
real and larger than the object


(E) 
virtual and the same size as the object

3.
An object placed outside the focal point of a convex (converging) lens will produce an image that is


(A) 
upright and virtual


(B) 
inverted and virtual


(C) 
upright and real


(D) 
inverted and real


(E) 
impossible to locate

4.
A virtual image can never be


(A) 
located using a screen


(B) 
located by correcting for parallax


(C) 
smaller than the object


(D) 
larger than the object


(E) 
erect if the object is erect

5.
Which one of the following statements about images and diverging (concave) lenses is correct?


(A)
Diverging lenses produce upright, virtual im​ages only


(B)
Diverging lenses produce uprights real im​ages only


(C)
Diverging lenses produce inverted, virtual images only


-- more choices nest column --

(D)
Diverging lenses produce inverted, real, images only.


(E)

Diverging lenses do not produce images.

6. 
Where must a point light source be placed with reference to a convex lens to produce a ray of light leaving the lens which is parallel to the principal axis?


(A)
at a distance of two focal lengths from the lens


(B)
at the principal focus of the lens


(C)
between the principal focus and the surface 
of the lens


(D)
between the principal focus and a distance of two focal lengths from the lens


(E)
as far away as possible from the lens

7.
When a ray of light travels from air toward glass at an angle of incidence of zero, most of the light


(A) 
travels straight through


(B) 
bends away from the normal


(C) 
bends towards the normal


(D)
reflects straight back


(E) 
reflects at an angle of reflection of 900

8.
To overcome the defect of nearsightedness in the


eyes, glasses must be used which have


(A) 
diverging lenses


(B) 
converging lenses


(C) 
double convex lenses


(D) 
bifocal lenses


(E)
 plano convex lenses

9.
The focal length of a convex (converging) lens is 10 cm, The image of an object placed 30 cm from the lens will be


(A) 
real and enlarged


(B) 
real and reduced


(C) 
real and the same size


(D) 
virtual and enlarged


(E) 
virtual and reduced


10. 
Light from a distant object focuses in front of the retina of an eye, as shown in the diagram.
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11.
A converging (convex) lens may be used as a magnifying glass if the object is placed at a distance of less than one focal length from the lens,

(A) True   (B) False

12.
The part of the eye that most closely corresponds


to the film in the camera is the

(A) comea   (B) iris   (C) optic nerve   (D) pupil 

(E) retina

13.
A double convex (converging) lens, whose focal


length is 8.0 cm, has an object standing 4.0 cm


from the focal point. The image formed is real and


12 cm. high. What is the height of the object?

(A) 3.0 cm   (B) 6.0 cm.   (C) 8.0 cm   (D) 16 cm 

(E) 24 cm.

14.
A child uses a convex (converging) lens of focal length 6.0 cm. to focus the sun's rays on a piece of paper. The paper is most likely to bum if its distance from the lens is


(A) 3.0 cm.   (B) 6.0 cm   (C) 9.0 cm   (D) 12 cm 


(E) very large


